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Trigonometry - Basics (2 pages; 15/4/21) 

 

(1) Sin, cos & tan of  𝟑𝟎°, 𝟔𝟎° & 𝟒𝟓° 

 

𝑠𝑖𝑛30° =
1

2
; 𝑠𝑖𝑛60° =

√3

2
                             𝑐𝑜𝑠45° = 𝑠𝑖𝑛45° =

1

√2
=

√2

2
 

𝑐𝑜𝑠30° =
√3

2
; 𝑐𝑜𝑠60° =

1

2
                             𝑡𝑎𝑛45° = 1 

𝑡𝑎𝑛30° =
1

√3
; 𝑡𝑎𝑛60° = √3  
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Graphs of  𝑦 = 𝑠𝑖𝑛𝑥 (𝑏𝑙𝑎𝑐𝑘) & 𝑦 = 𝑐𝑜𝑠𝑥 (𝑟𝑒𝑑)  

 

 

Graph of  𝑦 = 𝑡𝑎𝑛𝑥 

 

As  
√3

2
  is larger than  

1

2
  , the shape of the sine curve makes it clear 

that 𝑠𝑖𝑛30° =
1

2
  and 𝑠𝑖𝑛60° =

√3

2
  , rather than the other way 

round; and similarly for the cosine curve.  

Also note that, since 𝑡𝑎𝑛45° = 1  and the tangent function is 

increasing , we would expect 𝑡𝑎𝑛30° to be less than 1 and 𝑡𝑎𝑛60°  

to be greater than 1 (so that there should be no confusion as to 

which is   
1

√3
  and which is √3 ). 

𝑠𝑖𝑛, 𝑐𝑜𝑠 & 𝑡𝑎𝑛  of multiples of  30°, 45° & 60° can be found by 

referring to the graph. 

 


